H & 0l & AHS B Ml A

20258 = =0llah LB LXtelZ M

el XESoterE 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
VRSN 4,646,038 4,141,749 504,289
= 356,677
[ 925,000
Il 9,000
Al 794,199
- 2,561,162
AMHEE 2,902,236 3,285,472 A383,236
= 8,063
s 925,000
Al 476,557
- 1,492,616
A SoterE 2el 920,767 992,000 AT1,233
= 8,063
Al 9,407
- 903,297
KE=otetel 4,590 6,090 1,500
203 =4l 4,590 4,590 0
03 A=A H R S| 4,590 4,590 0
OZHS=X A= 3,600,000 *90% 3,240
OXNSgdNEd & 243 =4
1,500,000 *90% 1,350
HebtAg A 2dst X2 AHY 26,877 22,566 4,311
= 8,063
Al 9,407
- 9,407
301 EtE NS 26,877 22,566 4,311
= 8,063
Al 9,407
- 9,407
4 JIE2 8= 26,877 22,566 4,311
Ozehtga 435t X2
26,877,000& 26,877
= 8,063
Al 9,407
- 9,407
Aol & & 29 886,800 958,344 AT1,544
201 el 161,800 204,500 A42,700
01 At22t2lt] 161,800 204,500 42,700
OXlSaty &di=23| 160,000,000& 160,000
Os2= & & 22=258 78 S
2,000, 0002 *90% 1,800
301 2N = 725,000 725,000
14 0Bt 2as 725,000 725,000




2A:

2 Atel Z Xl ot

B pRIRE
e Xg ooty ae (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OderEy &olg 2=
720,000,000& 720,000
OXI<SatH OMIE ZOA 24
5,000,000 5,000
2B AU 2,500 5,000 A2,500
307 212+01& 2,500 5,000 A2,500
02 LB HAHE L 2,500 5,000 22,500
OA a8l HAets| AFEXIZ
2,500,000& 2,500
HEANEEE3 1,981,469 2,293,472 A312,003
= 925,000
Al 467,150
- 589,319
HEAIE 0I1Z0b)] Bm el 4,500 3,600 900
201 er23| 4,500 3,600 900
01 At2tltl 4,500 3,600 900
Os2= & & 22258 79 S
5,000, 0002 *90% 4,500
HEAE & o4& 243 XA 15,860 19,400 23,540
201 Zet=3h] 15,860 19,400 A\3,540
01 AtR2te|HI 2,000 4,000 22,000
OANMEANEXZ2 500,000 *42] 2,000
2 Ss52g4l 13,860 15,400 21,540
o&llz 250,0003 x 122 x90% 2,700
Odotee= 200,0002 x 122 «90% 2,160
OAE &8I Xl 10,000, 0002 *90% 9,000
Y20l 24 10,000 20,000 10,000
201 fer= 3| 10,000 20,000 10,000
03 A= 10,000 20,000 10,000
OFRSR& Y=ol 23
2,500,000 *42] 10,000
el (AEZA) 2,634 2,726 AR
201 er23 | 2,634 2,726 AR
2 352484l 2,634 2,726 VaNe
OXNSitEE = 900, 0002 *1CH*90% 810
OXIS XAl 26,0002 *1CH*90% 24
OXr&=All 2,000,000 *1CH*90% 1,800
HEANE F=XEZBINEAAL(0IEEX) 14,175 35,746 A21,571
201 =3 14,175 35,746 A21,571
01 At22t2lH] 14,175 35,746 21,571
OME=XEOIBER(RLTAIF)
7,425,000 7,425
OME=TUHOIBEX(RLUEZAIE)
4,875,000& 4,875
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B pRiRIE
chel: MESANEEES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEFIAOIZEA(ZLNEAE)
1,875,000 1,875
HEAE SHSHAIHA 9,300 12,000 22,700
Al 4,650
- 4,650
307 @12t0| & 9,300 12,000 A2,700
Al 4,650
- 4,650
02 LB HAHE L 9,300 12,000 A2,700
OXSAE SFHSMAEAS
9,300,000& 9,300
Al 4,650
- 4,650
HSANE ANEE FXNE=> 25,000 50,000 225,000
401 AIZHIX S0HH 25,000 50,000 A25,000
01 A28l 25,000 50,000 A25,000
OHSAE == AIEd= S |
25,000,000& 25,000
ANZREDAY SAAMY X (2HEEEXY) 50,000 0 50,000
307 212+01& 50,000 50,000
02 2B HAHE L 50,000 50,000
OAlZ7e 04 S K (ZIHEF X
2) 50,000,000 50,000
SEEES ALY 1,850,000 0 1,850,000
= 925,000
Al 462,500
T 462,500
307 glztol & 1,850,000 0 1,850,000
= 925,000
Al 462,500
- 462,500
02 LB HANHEE 1,850,000 0 1,850,000
OdAEds M (z0ISHEHE)
1,850,000,000& 1,850,000
= 925,000
Al 462,500
- 462,500
LEERN Y oHF 537,096 448,133 88,963
Al 10,000
- 527,096
FAAHS MIEXNE 22l M3 217,933 217,220 713
NS S ML AL (A SHEALY) 68,592 68,524 68
401 Al HIZ R 0HbI 68,592 68,524 68
01 AlZ28| 68,592 68,524 68




A LXtel B M
|

Hm: DREX Y OHF
el HUHE MBI L2l B (crel: g)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
ONABENL XA
68,524,000 68,524
OSx=HZ A 16,9603 x4 63
S2ZAE X 149,341 148,69 645
401 A& HIZLS0HY| 149,341 148,69 645
01 Al&HI 149,341 148,69 645
S7Y B32=2AM 100,000,000& 100,000
OSE2=2 At 48,696,000 48,696
OS=HZd | 16,9602 x38H 645
Atel &I K& 48,397 114,965 66,568
Al 10,000
- 38,397
Afel&EE FHIXZ 19,410 19,410 0
201 B2 AY| 18,600 18,600
01 Al 22IH| 18,600 18,600
OFgl 22Ys 20y 2%
15,000,000& 15,000
O=2s H&E 3 1,000,000 *90% 900
OHHgEL S 3,000,000 *90% 2,700
203 R =TI 810 810
08 A= 2EFIY| 810 810
OYNZIHE S IREF U oHF 92 =4
900,000 & *90% 810
AelEBEHH 29 22,087 33,107 211,020
Al 10,000
- 12,087
101 2124 d| 19,741 30,761 A11,020
Al 10,000
- 9,741
M IItM22 XS 19,741 30,761 A11,020
Ogie|sedH 2 XA 19,741
oJdlE= 86,0083 1200 17,202
Al 10,000
- 7,202
o=01H3 17,202,000& x4 . 5% 775
od&LEH 17,202,000 *3.545% 610
oL QIEDQAUE
17,202,000 *3.545%+12.951% 79
olEEH 17,202,000& *1.75% 302
oMHEH 17,202,000 * 1% 173
0 =XIEOIE HEE
600,000 *1H 600
201 B2 AL 2,346 2,346 0




M LXtelZ Mzt

M DREX Y o4

chelr Xl | XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,800 1,860 260
OFgdE N DAAE S22
1,000, 0002 *90% 900
O2XAISEHH SAEXN S
1,000,000 *90% 900
2 S22l 546 486 60
OTRRASER SMMHIA(BI2NESEE
&) A= 45,0002 x 122 x90% 486
O eI SEHH HI4H SAlHl S
5,500 x 122 +90% 60
s34 F - ¥ N3 M =29 6,900 6,900
201 fer= 3| 6,900 6,900
01 AtR2tc|HI 6,900 6,900
Os&YE HYH ns (LA 24810
F) 120,000 x25E *23] 6,000
OZFEHYN DS B2l S
1,000,000 *90% 900
ARIHEH K& 40,766 92,848 NB2,082
ST CHZ I ABIHBHSEXALE 29 10,316 39,398 129,082
201 eer23| 10,316 11,025 AT09
01 AtR2t2|HI 8,696 11,025 A2,329
OAI B NS ENALH 23 8,696
oZcltl 7,795,680 7,7%
0EZIY 29 U 28 29 S
1,000,000 *90% 900
2 s5=34l 1,620 0 1,620
OAMEIHZ NS ENJLNH 3223 1,620
oRIER(EDI, 2HY, =8| S)
1,800,000 *90% 1,620
AR EZH 2835t 30,000 50,000 /20,000
201 2= 30,000 50,000 /20,000
01 At2t2lt] 30,000 50,000 /20,000
OMSIHBM 243t At 30,000
oz XI& 20,000,000& 20,000
oUIERIA 10,000,000 10,000
ARl H B Sl 21 450 450 0
203 =4l 450 450
03 AIZ=TAHL 450 450
OAt2IH D =8
500,000 *90% 450
clsUl ESGHIE 2 230,000 0 230,000
clsUl ESGHIE & 134,000 0 134,000
201 Ler23| 34,000 0 34,000
01 At2teltl 34,000 0 34,000




SN URRIZRD
M DREX Y o4

Chel: olsUl ESGHIH 22 #43t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Os22 29| 10,000,000 10,000
og= 2,000,000& 122 24,000
401 AlZHIZ S OHYI 100,000 100,000
01 AlZ2H| 100,000 100,000
OclZ2&E SAtI 100,000,000& 100,000
fclsUl ESGHIEH HE gAY 96,000 96,000
201 223 6,000 6,000
01 At22t2ltl 6,000 6.000
OdNg 24| 6,000,000 6,000
405 AHatE = 90,000 90,000
01 ML ESFHSH 90,000 90,000
g=J) S 15,000, 000 =6CH 90,000
FAYH 545,378 173,162 372,216
= 201,614
Al 126,312
- 217,452
34 3 N 545,378 173,162 372,216
= 201,614
Al 126,312
- 217,452
HHEN StAl SEXNE A 360,892 27,963 332,929
= 180,446
Al 126,312
- 54,134
301 EtE NS 360,892 27,963 332,929
= 180,446
Al 126,312
- 54,134
01 AR 2 HSFS(RNEERTHE) 360,892 27,963 332,929
OHEEAN SAl EEXRAAS
360,892,000 360,892
= 180,446
Al 126,312
- 54,134
Fd NAS SAME N At 10,450 11,800 21,350
201 er23| 450 900 A450
01 At2teltl 450 900 A4S0
OAt 28I 500,000 *90% 450
301 EtE2 N = 10,000 10,000 0
02 MR 2HHLFS(HAAS, XNLHE) 10,000 0 10,000
OFYH XAS SAE XNE
100,000 *100& 10,000
9 M 24sHAZFHEAY) 5,600 9,400 /3,800
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2 Atel Z Xl ot

B HAEY
ol 39 33 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,700 5,400 A2,700
01 At2teltl 2,700 5,400 A2,700
OFUHMUESRT 3928 ¥ =257Y
S 3,000, 0002 *90% 2,700
203 HR=AH] 900 900
03 A=A PR FZ| 900 900
O34 &% 2dat AIH =4
1,000,000 *90% 900
301 LELEE S 2,000 4,000 22,000
14 JIEt2 8= 2,000 4,000 22,000
OHUFMUESRT 3l &8 =4 S
20,0002 x10E 102 2,000
sul 3ggs 32 243t XA 26,100 25,560 540
201 er23y| 26,100 25,560 540
01 AtR2t2|HI 25,500 25,560 60
OFH-IIY o 9 Yt =278 =29
S 10,000, 0002 22| *90f% 18,000
OO0ldt=&2 Ll 29 7,500
o 22/l 535,000& 122 6,420
oY 28 X =5 7Y S
1,200, 0002 *90% 1,080
02 S3=gHl 600 0 600
O0lg=& L &IIMS
50,000& * 122 600
s7 FE g X AL 42,336 83,439 41,103
= 21,168
T 21,168
201 er23 | 2,940 5,715 N2,775
= 1,470
- 1,470
01 AtR2t2|HI 2,940 5,715 N2,775
OFY WS & el S
1,470,000& 28 2,940
= 1,470
- 1,470
307 212+01& 39,3% 77,724 A38,328
= 19,698
T 19,698
02 2B YA HE X 39,3% 77,724 A\38,328
OZYE ZYXN A WE AH(BEE &l77
g, 34Xt XIg) 19,698, 000& =2 39,3%
= 19,698
- 19,698
CHE FYE HYEFH SgE DAY 100,000 0 100,000
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B HAEY
ol 39 33 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 100,000 100,000
02 2B YA HE L 100,000 100,000
O&dE HU ) S22 ZdAY
INE=ION|=[ESFSPNEED 100,000,000 100,000
HIHXI S8 283t 12,900 26,024 A13,124
7l 9,000
Al 1,950
- 1,950
HuXs= ety et 12,900 14,000 1,100
Jl 9,000
Al 1,950
- 1,950
FAHS HUHXISA 12,900 14,000 21,100
Jl 9,000
Al 1,950
- 1,950
401 AlEHIZ 201 12,900 14,000 AT1,100
Il 9,000
Al 1,950
- 1,950
01 Al&H| 12,900 14,000 21,100
OFAAES LAY WHAY
12,900,000 12,900
Jl 9,000
Al 1,950
- 1,950
SHEMATIZ SAILHIX SA S 568,221 132,029 436,192
= 147,000
Al 179,380
- 241,841
CAsg gdat 88,691 12,250 76,441
Al 32,500
- 56,191
CAsg gdat =4 450 450
203 2=l 450 450
03 A=A PR FZI| 450 450
O ANsSELs =8 500,000 *90% 450
=45 2EHD| ASSE S 2L 4,500 9,800 25,300
201 2= 1,800 1,800 0
2 S5=2g4l 1,800 1,800 0
Ozze3 HR(+E:, TIE 9)
2,000,000 *90% 1,800
206 M=l 2,700 0 2,700




A LXtel B M
X SOHEYLAL TAILHIL SA S

&el: SAlsY 243t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEL 2,700 0 2,700
OSASE 29 W27
3,000, 0002 *90% 2,700
CA=Y HEE s X (HEAY) 1,000 1,000 0
Al 500
- 500
206 M=l 1,000 1,000 0
Al 500
- 500
01 MHZH| 1,000 1,000 0
O=Alsg 2etd s XA
1,000,000& 1,000
Al 500
- 500
CA=Y 224 X (HEAL) 1,000 1,000 0
Al 1,000
201 er23| 1,000 1,000 0
Al 1,000
01 AlR22IH| 1,000 1,000 0
OZ A=Y 2gH| XA
1,000,000 1,000
Al 1,000
CANsY SEAE (HEAY) 62,000 0 62,000
Al 31,000
- 31,000
307 212+01& 62,000 0 62,000
Al 31,000
- 31,000
02 LB HAHE L 62,000 0 62,000
OFANSSHL(ATE) T4
12,000,000 12,000
Al 6,000
- 6,000
OH0obte gedals 2200 X&
12,000,000& 12,000
Al 6,000
- 6,000
O0i24l APHZ st BtidA s B3
10,000,000 10,000
Al 5,000
- 5,000
OkA=g 28 Loz 2 29
8,000,000 8,000
Al 4,000
- 4,000
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M SHELATLE TAINHIL SAI 25
el TAlsY 2435t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O7&EE0l Wdke= K20l HEsty 29
20,000,000& 20,000
Al 10,000
- 10,000
CAISE 28 K& 19,741 19,741
101 21AH| 19,741 19,741
04 JIZtNZ2Z2XNS 2 19,741 19,741
OZASE 2 XI& 2124| 19,741
o2 86,0083 x1H 200! 17,202
o=tz 17,201,6002 *4. 5% 775
0 HHEE 17,201,6002 %3.545% 610
0 ORI R
17,201,600 #3.545%+12.951% 79
0 NEES 17,201,6002 *1.75% 302
0 ATHEE 17,201,600+ 1% 173
OBXEIE U FEEIH|
600,0002 1 600
sTNE RS2 364,380 19,329 345,051
= 138,200
Al 113,080
- 113,100
sSEME AlES=H| 100 100
206 MH=H| 100 100
01 M=4l 100 100
OsHL=E Az
10,0003 x224+53] 100
SUE SAE Mg 400 400 0
= 200
Al 140
- 60
206 M=l 400 400 0
= 200
Al 140
- 60
01 M=4l 400 400 0
OF4tE BAE AlZ+H8] XA
20,0003 521 %43] 400
= 200
Al 140
- 60
TSSSWE NN XM 19,144 18,829 315
Al 9,572
- 9,572
307 212+01& 19,144 18,829 315
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M SHEAMTLE TAINHIL SAI 25
el sSeE 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,572
T 9,572
02 2IZHB A E £ 19,144 18,829 315
OzSSSua W2tA XZ A
19, 144,000& 19,144
Al 9,572
- 9,572
AT P sitE K3 A 68,736 0 68,736
Al 34,368
- 34,368
307 212+01& 68,736 0 68,736
Al 34,368
- 34,368
02 LB HAHE L 68,736 0 68,736
OYite FBABLS XA
68,736,000& 68,736
Al 34,368
- 34,368
sS4 HIRH X 276,000 0 276,000
= 138,000
Al 69,000
- 69,000
307 el2to| & 276,000 0 276,000
= 138,000
Al 69,000
T 69,000
02 2B YA E X 276,000 0 276,000
OsAlE HRHd X 276,000,000 276,000
= 138,000
Al 69,000
- 69,000
sS=2s 115,150 100,450 14,700
= 8,800
Al 33,800
- 72,550
S 3,650 3,650 0
201 el 2,700 2,700
01 At22t2lt] 2,700 2,700
O==8= Ud+==
1,500, 0002 *90% 1,350
OZE= M, AM=-0iHl S
1,500,000 *90% 1,350
203 =4l 450 450
03 A=A 2= 450 450




SN ARIZH D
M SHELATLE TAIXHIL SAI 25
o°el: S=2ES (S &S
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Os=2=2s 2435 =d
500,000 *90% 450
301 EtE2 NS 500 500
14 0Bt 2a=S 500 500
ONSEESH BELT
50,0002 x5 *23] 500
fIsS 2el(EX) 30,000 30,000 0
Al 15,000
- 15,000
307 glztol & 30,000 30,000 0
Al 15,000
- 15,000
05 21t S 30,000 30,000 0
ORJIs= A2
150,000 2005 30,000
Al 15,000
- 15,000
RS2 gdl XNEAME 1,500 1,500 0
= 750
Al 375
- 375
307 @I2to1 & 1,500 1,500 0
= 750
Al 375
- 375
02 2B YAIHE £ 1,500 1,500 0
ORJIs= &l Xd
150,000 %10 1,500
= 750
Al 375
- 375
=IlS=2 25| 3,500 3,500 0
= 1,050
Al 1,225
- 1,225
307 elztol & 3,500 3,500 0
= 1,050
Al 1,225
T 1,225
05 2ItRIE = 3,500 3,500 0
ORJISE L2 3,500,000& 3,500
= 1,050
Al 1,225
- 1,225
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M SHELATLE TAIXHIL SAI 25
o9l 32528 (el ®9)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2020l S35t =4l XJ(2X) 35,000 356,000 0
= 7,000
Al 14,000
- 14,000
307 212+01& 35,000 356,000 0
= 7,000
Al 14,000
- 14,000
05 git?(& = 35,000 356,000 0
OZ 0| 43 =4l X
200,000 * 1755 35,000
= 7,000
Al 14,000
- 14,000
2020] SHa =4 XIZAL(XHA) 10,000 0 10,000
307 212+01& 10,000 10,000
05 2ItRIE = 10,000 10,000
O2DYOl ZH5 22| X
200,000& 505 10,000
220 sS4t AN2MAHR= 1,000 1,000 0
Al 800
- 200
201 er2&y| 1,000 1,000 0
Al 800
- 200
01 AtR2t2|H] 1,000 1,000 0
OZ 0l S5 NEHAT=H 1,000
0EEES, 2 S
100,000 * 10H 1,000
Al 800
- 200
AR XL} BtelsE de NI3AAMY 1,200 1,200 0
Al 600
- 600
307 @12t01 & 1,200 1,200 0
Al 600
- 600
02 B AAHE L 1,200 1,200 0
OAt2I XA} BtefsE A=t XIS
150,000 +8& 1,200
Al 600
- 600
glels=E =22FA 24,700 20,000 4,700
201 eer23y| 24,700 20,000 4,700
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o9l 32528 EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AfR 22l 2,700 14,000 A11,300
OsizisE =X 2% N
3,000, 0002 *90% 2,700
03 A= I 22,000 6,000 16,000
OS2 2at=HM A2
22,000,000& 22,000
248 HEES A=l N 1,000 1,000 0
307 212+01& 1,000 1,000
05 2ItRIE = 1,000 1,000
OZAg HgaES Alsdl XA
1,000,000 1,000
s2 =& A& 3,600 3,600 0
Al 1,800
- 1,800
301 EetE2 NS 3,600 3,600 0
Al 1,800
- 1,800
14 0Bt 2as 3,600 3,600 0
O==2 2+g XA
300,000& x1E~12& 3,600
Al 1,800
T 1,800
A 2IZHI(L A2 M) 80,207 76,929 3,278
ol (LI Z ML) 44,366 42,096 2,270
g =228 K 44,366 42,096 2,210
101 ©1AH| 39,336 37,298 2,038
03 SRA(RIH )22 U2+ 39,336 37,298 2,038
OF g 37,665
oJlzs
2,517,2703 18 =23+2,544, 6402« 1B 102
30,481
o ZHIAHI 140,0002x 1~ 122 1,680
o dEHU=
2,517, 2703 + 1 »40%+2, 544, 6403 » 12 x40%
2,025
o ItE &I 2,158,850& 2,189
oJIE+E 110,000 x1&* 122 1,320
OFgagd dtdt=s
1,370,840 %1 1,371
Oolsrd It slkd=
300,000& 1 300
202 04| 600 600
01 SLHoIH 600 600
OFgagd ol
10,0002 x1& #5212 600
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